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Note :—Answer any five questions. 

1. (a) State the rationale for ealry child development 
interventions. Support your answer with relevant 
examples. 	 15 

(b) In brief, describe any one ECCE programme running 
outside India. 	 5 

2. "A disabled person is handicapped in all areas of 
functioning." 

(a) State whether you agree or disagree with the above 
statement. 	 2 

(b) Give reasons to support your answer. 	 8 
(c) Differentiate amongst the terms : Disability, Impairment 

and Handicap. 	 10 

3. (a) What are the aspects you need to keep in mind in 
order to be an effective ECCE worker ? 	 7 
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(b) State the principles of child-to-child strategy of 
communication. 	 7 

(c) What are some of the aspects you need to be 
careful about when working with a group of people in 
the context of ECCE ? 	 6 

4. (a) What system of classification has been adopted by 
the educationists for classifying people with visual 
impariment ? 	 5 

(b) List at least 15 symptons of eye illness which must 
not be neglected and could lead to visual impairment. 	15 

5. (a) Discuss the positive and negative effects of labelling 
of children with disabilities. 	 7+7=14 

(b) Describe some emotions experienced by parents of 
special children. 	 6 

6. (a) The term "Mobile creches" refers to the mobility of 
the child care centres. How would you explain this 
mobility ? 	 5 

(b) List any five important ways by which.  Mobile creches 
workers attempt to reach out to the community. 	5 

(c) What are the features unique to mobile creches ? 
Explain. 	 10 

7. As an incharge at the child care centre, state how can 
you help in the following situations : 

(a) Child has a fit. 

(b) Child throws a temper tantrum. 	 10+10=20 
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